RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.9-.10.dwg, FL-16092.10

™

WR
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

7700/9900 Series

Vinyl Horizontal Sliding Window

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant covering
that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring (Max. Frame Width: 144")

Buck and frame anchoring (Max. Frame Width: 94")

OO [N —

Bill of materials, components & glazing details

144" MAX, O.A. FRAME WIDTH

66.5" MAX. D.L.O. WIDTH

72" MAX. O.A. FRAME HEIGHT

64" MAX. D.L.O. HEIGHT

96.0" X 72.0" 42.5" X 64.0" Gl +25.0 -25.0
120.0" X 63.0" 54.5" X 55.0" GI +30.0 -30.0
144,0" X 48.0" 66.5" X 40.0" Gl +35.0 -35.0
132.0" X 54.0" 60.5" X 46.0" Gl +40.0 -40.0
96.0" X 48.0" 42.5" X 40.0" Gl +45.0 -45.0

Note: Maximum frame heights and widths occur on separate units.

Documents Prepared By:

n No. 9813
T2 17

P.O. Box 230 Valrico FL. 33595
813.659.9197

Phone No.:
Florida Board of Professional Engineers

BUILDING CONSULTANTS, INC.

L7

Lynden F. Schmidt, P.E. No. 43409

Certificate Of Authorizafb‘

7700/9900 SERIES

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NO. DATE

REVISIONS

DATE: 4/25/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-16092.10

SHEET 1 oF 6

© 2013 R.W. BUILDING CONSLLTANTS INC.



"ON| SINVLIINSNOD SNIaTINg

MY ELOEQ

Va

4

4

d

DD

-yﬂlvl _.O~.

e

16

INTERIOR

)

W

F/i

L

EXTERICR

G1

16

BOYSY “ON 'I'd 'IPHUUDS "4 UOpUA SNOISIAZY
SNOILDFS SS04D : o
{2 Z9L7 WINOZIHOH A8 A fONIm| el ]
g186 "oN uoHbzpoyig i B10oINeD - Y m S|Y o
siasuibuy |pucissejoid jo ploog DRUS SA18WISSY J0 Lavd % N 3 o) ©
LE16°659'CLE T'ON BuOUd NN REE: 2“
SEGEE 14 OOUIDA OCZ xof .o.mggv ol Ble
'ONE 'SINYLITNSNOD ONIGTING S3HM3S oomm\oomm i M & | w e L
:Ag pesodaig sjuswinnoQ 1 1ONGgodd YR g 5|5 %
i
[/
<
— \_“s m
O w0 o
Y]
@\\\l\‘ vy
E = w alz
o~ O Q|3
= Gle
© ¥ Qe
wy E -0
vy ™~ =i
- “ g I8
744 0 Z|0
0N o] Qs
m ™ L} P
O ooz
-2 O o
= 0 = = ol
e = 0 S ZE
Id (0O N M T MmN
T2 &3 T =
— L} — L
ol )]
> b 2
e 4 o :
- v
: V. " N mw
[ ” ‘w
e o .

m HORIZONTAL CROSS SECTION

7“1\ HORIZONTAL CROSS SECTION

\y Shown w/ 2X buck

T2 ‘BMDOT -6 Z609T-14\ISPNS [BIUOZMOH\GLIT 4d\00LT - T0AT foig\siapioy waloid\sinalold - vy




CON] BANVLAINSHNGD 9NIOTHINE "M'Y ELOT @

60%CH 'ON 'I'd IPILIYDG "4 UOPUA] SNOISIATY
i SNOILD3S SS040D F O
£rz.s M%%.W TLLHIA A8 VA JONIm| 4 || =)
£186 'ON UCHDZLIOYINY JO SIODHBD - U . Siu
sivouibul |pDUBISED0U4 JO PJIDOF DPUO|4 TANIWISSY O Lavd Rn/_u - e ©
L616'669'ClA "ON PuCUd ~J . 2 © 3_
SBSET 4 odMBA OCZ xeg ‘O'd \h\w@ = B &2 ¢
"ONI 'SINVLINSNOD ONITTING SIYIS 0066/00LL itdle|wlZ2 B
:Ag poandald SUBWINDOQ 11203004 d 5 m IR %
g —
o o
a)\< -0 m @] Q ~ =
Ju. o..A_. — M m N ,.q 3 .WA m
v Q —l-ll- 0 . . . —l”
IR —— m | — e ufhbu o
R i “ e N v\ 5
v N N \ e~ ” v - / v R ” m
Ojo _— OlE
. o ac m —_— L v e .mW
e = Q= = " O 5
| 41 E M “ .ﬂ ﬁ ..V.Q.“. , 1.. q M -m
A U3 . . Uio
" o / b~ - m s O D e oy m
= o - o s o
» (o] ) e O
2T 9 / LI\\U — PW % X = ;vc ._v Fvc m
N o~ o D o e
S AU e © 2 mu
o ] i
o™~ = >
i w w — il
Q -— © 0 w \*
| (dAl) ‘awa
NIW S 1L
@
o
o —
- a
LS
e —
ES
28
g2
o 9
= O
3=
goli=
5%
sn  (dAllena
(dal) "awa 5L NW/LL
NIW P/ 1-L 2
0 - (S
h =) o ~) T ’
/\\1/ o O = \.I\
o0 [IE| ] L
a 4“_ G v M W.q K o
v - N - o N
¥ Q L
& —) [— N 5 nﬂv
a B 1Y _H_ .9, tr C
o \ .H” * / v a ”-\Lv
q i du E f— . g w ]
v fam | m a0 _ . o m
P E-] ﬁ = E o v C b4
- v o e -t o q s M m
- - o - L D , C W
= P v P --l-ll £
v [ — (m— [+ W
L Y
* o >[5
a4
o -]
[T (=] & - L
™~ 52
00O 066
o (&) — [+ ] -0 un

7€ ‘BMpOT-6Z609T-14\ISPYS [RI0ZUOHNG/IT INOOLT - TOST foid\s1apiod Paford\sisalong - vy



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.9-,10.dwg, 4.2

DIRECTTO
MASONRY

1XBUCK

- e 2X BUCK

1X BUCK

DIRECTTO
MASONRY

(TYP.@ JAMB)

2X BUCK

1X BUCK

DIRECTTO
MASONRY

{TYP. @ HEAD THRU STOP}

MEETING STILE MASONRY
o OPENING
e S AT .— \
PR 4/ (TYP-)"I * R NN
a'”“‘ . — 3 I I 1 "»~".- e it
._.Ao.:_-‘l Tl I 7] T LR
=;=ﬁ, I H } v
1'4:, N-"‘ ” il . a—_;- .'a._' -
P I I (TYP.) ;—T}\
ik [} ll L _
2% [ Il
BUCK Il [ FRAME
. I l BN
MASONRY !
OPENING H H
N H ” = _“‘“'L 22X BUCK —\
.i':.»-fg H I z; o
« | H 2 S "‘_-_ .
R || I B =
IR \:”: i = i s
BUCK ANCHORING
MAX. FRAME WIDTH: 144"
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted fo maintain
the min. edge distance fo mortar joinfs. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concretfe anchor table:

ITW 1!4"

1-1 /4.:

2-1/2" 3

ELCO 14" 1-1/4" 1 4

FRAME ANCHORING

|—— 5 {TYP.}

0
Q
<
o
i
—_—
g
=]
)
v
e

5.
(TYP.)

Documents Prepared By:

“ Eer ¥

B813.659.8197
i f 9813

Florida Board of Professional Engineers
Authorization

%

P.G. Box 230 Velrico FL. 33595
Lyndon F."Schmidt, P.E. No. 43409

BLHLDING CONSULTANTS, INC.

Phone No.:

Certificate Of

7700/9900 SERIES

BUCK AND FRAME ANCHORING
(MAX FRAME WIDTH: 1447)

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/25/13

SCALE:  N.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
Fi.—16092.10

SHEET 4 oF 6

© 2013 R.W. BUILDING GCONSULTANTS ING .



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Stider\FL-16092.9-.10.dwg, 5.2

MEETING STILE

2"
(TYP.) "'

MASCNRY
OPENING \

[
.
-
: B

[TfF".) ﬁ"L

« . A { *
I
e 2XBUCK || 2X BUCK 1 o
@]
1XBUCK H 1X BUCK ii 2
DIRECT TO DIRECTTO 4
MASONRY! | MASONRY I E
_ (TYP.@ JAMs) H (TYP. @ HEAD THRU STOP) :; 2
I} {] & g_

- I

L

¥
¥
I

1]

a 1 ] 1 1 F] ‘
e [+ HTE s
Y I 1 f
-'4._. " ' l ’ l ] . E .‘a._' _..‘1
el [ [ oy R
PR [l [l ]
| I I i A
2% I I FRAME
BUCK ™| e || I K
MASONRY E: 1
OPENING i E:
o —1 2X BUCK
1 Il N\
Ry i I 35 Ry
R [ 1 . .
i&-.;.'"': — =Q ;ii} I %‘-“-;
BUCK ANCHORING
MAX. FRAME WIDTH: 946"
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchoers from @ different supplier may have
different edge distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain
the min. edge distance to mortfar jeints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw 4 1-1/4" 2./

ELCO /4 1-1/8" r &

FRAME ANCHORING

5"

(yp)

BUILDING CONSULTANTS, INC.

P.O. Box 230 Voalrico FL. 33595
813.659.9197
rofessional Engineers

Certificate Of thorization . 9813
oL seenr

Phone MNo.:
Florida Board of

Ry

Documents Prepared By:

Lynden F. Schmidt, P.E. No. 43409

7700/9900 SERIES
BUCK AND FRAME ANCHORING

PART OR ASSEMBLY:

PROBUCT:

(MAX FRAME WIDTH: 96"}

REVISIONS

NOJ DATE

oaTE: 4/25/13

SCALE:  N.T.S5.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16082.10

SHEET 5 oF 8

© 2013 R.W. BUILDING CONSLLTANTE INC.



RMNA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.9-.10.dwg, 6.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK SG >=0.42 wOOD
B ZXBUCK $G >=0.42 wOQ0D
C 1/4" MAX. SHIM SPACE -
D 1/4° X 2-3/4" PFH ELCO OR {TW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI| MIN, CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F #8 X 3" PFH WOOD SCREW STEEL
G #8 X 2" PPH WOOD SCREW STEEL
J 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
K 1/4" X 4" PFH ELCO OR ITW CONCRETE SCREW STEEL
L 1/4" X 3-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
1 FRAME* FVC
2 SLIDER PULL STILE* FVC
3 LOCK STILE* FVC
4 KEEPER STILE* PVC
S GLAZING BEAD* PVC
é SLIDER COMMON RAIL* PVC
7 METAL ROLLERS w/ PLASTIC HOUSING -
8 WEATHERSTRIP {0.230") -
9 WEATHERSTRIP {0.380) -
11 SILL TRACK ALUM
16 REINFORCEMENT {(LOCK & MEETING STILE) STEEL
18 #8 X 1-1/4" PFH SMS STEEL
19 LOWER FLANKER STOP {2991C) NYLON
20 UPPER FLANKER STOP {2991B) NYLON

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

1/16"X 1/2"
GLAZING TAPE
BY LAMATEK
1/2° GLASS
BITE - 7/8" THICK GLASS

I/

T

AIR SPACE

INTERCEPT SPACER

C:) GLAZING DETAIL

1/8" ANNEALED

1/8" ANNEALED

0.08"

-~ 3.92

0.08

248

( : )FRAME

2,04

—3

[

e 142" —=]

( : ) SLIDER PULL STILE

S ] 85 =2

C

f

1.9"

=

| r;

Ll

( : ) LOCK STILE

142 =

U

1.9

@ SLIDER COMMON RAIL

F=—1.21

[ 0.37"

"

m—
e | o

j_ 0.09" —= |=—

bl

1.29" =

0.67"

@ LOWER FLANKER STOP

-

o "

r——-— 0.67"

H
= i o 2
H \ ==:__:;4L:==__=—UJ m E * 8
Lor r ar 1{ u g’,,r, [\
= i B gm £ ore
L b 2 280K "
===Els Al L 4E2UW 8
P @ 5 Z
- > Q.0 .
J} |/ AF36 {1-1/2" Brick Mould) é Ex?g 5 5 E
i B 5w § 3 o
It :i ?I lr'rE h a m - % 3 © E 'g 'I'E?
R il ih f o fl i AOowN- 2
A S L RS
. ey K{ \Ir:::‘ﬁF:__::::‘“‘:_(:"; ” —L\ 77777 g“h 777777 }ﬂjl B z {g Z o < m.
& = *f}? i i Ij I e AT 8§ 9, 2 v 5\3 W
& (I N =5 B § 5023, Nc
5] e [ T S R T g fonme 3
BLIE =0 TS w g g &
- o s )
i g 5%
5 @ L O
AF59 {Masonry Flange 1} V672 [Masonry Flange 2) 8
2
OPTIONAL COSMETIC FLANGES %J
n
0 S <
. & 8%
E 19" { § % =]
—r— (] - o -y U
-~ ] S |z =8
o o = % N
i 3 0.07" S 953
x X |U ' I
— 5 [ ol L
‘f— g ol ©
=
i B o x
] L——l—o.ss" & <3
C KEEPER STILE GLAZING BEAD S
m
5
S 0.73" W‘w-l
* }—'vgm _
I 3 %
I Z
n )
f \ G
1.4" v
(: :) SILLTRACK REINFORCEMENT
tock & Meefing Stie
Fo
=
=] w
1.99" 1.21" =
At 1 T kit E
1A
4 @]
A A A A R A A A A A - Z
%
T J ~ DATE: 4/25/13
& =007 o L l scale N.T.S.
© DWG. SY: JK
0.08" -—41‘— 0.08" —| |=— cHk. BY:  LFS
0.67' DRAWING NO.:
FIL.—18092.10

20 UPPER FLANKER STOP

sHEer 6 oF _ 6

© 2013 R.W. BUILDING CONSULTANTS INC.



